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Hh =1 EI 310 Hh = EI 310
AR | RE EE £F | AR | FRE FE FT
I oM |V |V ¥ {E I oM | NV |V ¥ iE
0.5m|0.025(0.013{0.012(0.008(0.014] 0.014 0.01_2 0.5m|0.018{0.014(0.009(0.008{0.014] 0.012 0.0?
2012 | 30m 0.009 0.009] 0.008 | 10/11 | 30m 0.010 0.010] 0.007
4/16 | [EfE 0.012 0.012] 0.012 EE 0.020 0.020] 0.020
7KiZE| 6m | 23m | 46m [ 78m | 15m KiZE| 6m | 22m | 47m [ 77m | 11m
0.5m|0.028(0.009(0.018(0.009(0.013] 0.015] 0.013 0.5m]0.015(0.011{0.009(0.008{0.014] 0.012] 0.011
5/14| 30m 0.012 0.012] 0.007 | 11/19 | 30m 0.010 0.010] 0.007
KE 0.016 0.016] 0.012 EE 0.019 0.019] 0.019
KiEl Tm | 22m | 46m [ 77m | 14m KiZEl Tm | 23m | 46m [ 77m | 14m
0.5m|0.023(0.013{0.012{0.010{0.019] 0.015] 0.014 0.5m|0.010{0.008{0.008{0.016{0.013] 0.011] 0.011
6/11] 30m 0.006 0.006] 0.007 | 12/12 | 30m 0.007 0.007] 0.009
&S 0.022 0.022] 0.019 EE 0.015 0.015] 0.018
JKiE| 6m | 21m | 48m [ 77m | 15m JKiE| 6m | 22m | 46m [ 77m | 13m
0.5m|0.016({0.014(0.011(0.010(0.016] 0.013] 0.012 0.5m|0.012{0.012{0.011{0.013{0.015] 0.012] 0.011
7/17] 30m 0.009 0.009] 0.007 | 2013 | 30m 0.013 0.013] 0.009
KE 0.022 0.022| 0020 | 1/16 |IEfE 0.012 0.012] 0.017
KiE| 6m | 22m | 47m | 77m | 14m KiZEl Tm | 22m | 46m [ 77m | 12m
0.5m|0.013{0.008{0.007{0.009(0.007] 0.009] 0.011 0.5m|0.015(0.016{0.011(0.013(0.010] 0.013 ] 0.009
8/16] 30m 0.004 0.004] 0.007 | 2/18 | 30m 0.010 0.010] 0.008
KE 0.018 0.018] 0.019 EE 0.014 0.014] 0.010
JKiZE| 6m | 23m | 47m [ 77m | 14m JKiE| 6m | 22m | 47m [ 78m | 15m
0.5m|0.013{0.008{0.007(0.010{0.009] 0.010] 0.010 0.5m|0.029(0.011{0.013{0.010{0.012] 0.015] 0.011
9/12] 30m 0.005 0.005] 0.006 | 3/12 | 30m 0.013 0.013] 0.010
&S 0.023 0.023] 0.017 EE 0.013 0.013] 0.009
JKiZE| 6m | 22m | 46m [ 77m | 14m JKiZE| 6m | 22m | 47m | 77m | 12m
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